THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING PRICE(S):

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES		
1.	Clearing And Prepa	Clearing And Preparation of Site, Mobilization, And Demobilization (Maximum Bid Price \$10,000)			
	1 Lump Sum	\$10,000.00_ _{/LS}	\$		
		Figures Ten Thousand Doillars	Figures		
WRITE	E UNIT PRICE BID:	Tell Housand Dolliars			
-			PER LUMP SUM		
2.	Earthwork and Subgrade Preparation, Including all Cuts, Fill, Import Fill, Compaction, Grading, Removal of Excess/Unsuitable Soils and all Incidental Work				
	1 Lump Sum	\$ <u>130,000.00</u> /Ls	\$ 130,000.00		
		Figures	Figures		
WRITE	UNIT PRICE BID:	One Hundred Thirty Thousand			
			PER LUMP SUM		
3.	Tennis Court Equipm adjustable center str 3 Units	nent Set (set shall include posts, net, ground slee aps), including concrete foundations \$4,000.00/UN Figures	\$\frac{12,000.00}{\text{Figures}}		
WOITE	UNIT PRICE BID:	Four Thousand			
VVICIO	ONT PRICE BID				
			PER UNIT		
4.	HMA 9.5 M64 Surfac	e Course, 2" Thick			
	270 Tons	\$ <u>80.00</u> /TN	\$ 21,600.00		
WRITE	UNIT PRICE BID:	Figures Eighty	Figures		
			PER TON		
5.	HMA 19M64 Base Co	ourse, 3" Thick			
	405 Tons	\$ <u>80.00</u> /TN	\$32,400.00		
		Figures	Figures		
WRITE	UNIT PRICE BID:	Eighty			
			PER TON		
		SUBTOTAL FORWARD (,		

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING PRICE(S):

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED (ESTIMATED QUANTITIE
6.	Dense-Graded Aggregate B		40.050.00
	355 Cubic Yards	\$30.00/CY	\$10,650.00
	T	Figures hirty	Figures
WRITE	E UNIT PRICE BID:	Tilley	
			PER CUBIC YARD
7.	Acrylic Court Color Coating	(Two Color) and Line Striping	
	2,140 Square Yards	\$ 10.00 _{/SY}	\$ 21,400.00
	2,140 Oquale Talus	Figures	Figures
WRITE	E UNIT PRICE BID: Te	n	
			PER SQUARE YARD
			I EN OQUANE TAND
8.	6" x 12" Concrete Curb		
	400 Linear Feet	\$ 25.00 /LF	\$ 10,000.00
		Figures	Figures
WRITE	UNIT PRICE BID:	Twenty Five	
			PER LINEAR FOOT
9.	10' High Vinyl Coated Chain	Link Fence w/ wind screen, including co	ncrete foundations
	580 Linear Feet	\$ 80.00 /LF	\$ 46,400.00
	300 Linear Feet	Figures	ΨFigures
WRITE	UNIT PRICE BID: Eigl	hty	
			PER LINEAR FOOT
			PERCENTER
10.	10' High (3' Transom), 5' Wid	de, Vinyl Coated Chain Link Fence Gate,	including concrete foundations
	2 Units	\$3,000.00 /UN	¢ 6,000.00
	2 Office	Figures	Figures
WRITE	UNIT PRICE BID: Three	Thousand	
			PER UNIT
			I LIX UNIT

SUBTOTAL FORWARD (\$_

THE BIDDER WILL SATISFACTORILY COMPLETE THE WORK ON THIS CONTRACT FOR THE FOLLOWING PRICE(S):

ITEM	DESCRIPTION	UNIT PRICE	TOTAL PRICE BASED ON ESTIMATED QUANTITIES
11.	10' High (3' Transom), 8'	Wide, Vinyl Coated Chain Link Fence Gate, inc	\$ 6,000.00
WRITE	EUNIT PRICE BID:	Figures Six Thousand	Figures
			PER UNIT
12.	2' Wide Stone Recharge Compaction	Trench, Including Excavation, Filter Fabric, Stor	ne Bedding, Backfill and
	225 Linear Feet	\$	\$11,250.00 Figures
WRITE	: UNIT PRICE BID:	Figures Fifty	Figures
			PER LINEAR FOOT
13.	Topsoil, Fine Grade, Fert	ilize, Lime, And Seed All Disturbed Areas	
	1 Lump Sum	\$_25,000.00/LS Figures	\$5,000.00 Figures
WRITE	UNIT PRICE BID:	Twenty Five Thousand	rigures
			PER LUMP SUM
14.	Allowance for Work Not S	Specified	
	1 Allowance	\$ <u>10,000</u> /AL Figures	\$ 10,000
WRITE	UNIT PRICE BID:		Figures
			PER ALLOWANCE

Total of Prices Bid based upon Estimated Quantities for above listed Items 1 through 14 inclusive.			
(Amount – Figures)			
Three Hundred Fifty Two Thousand Seven Hundred Dollars			
(Amount – Written)			
TIME FOR COMPLETION of this Contract is <u>60</u> calendar days.			
Quantities are not guaranteed. Final payment will be based on actual quantities.			
C 5. BIDDER agrees that the Work will be substantially complete within <u>45</u> calendar days after the date when Contract Time commences to run as provided in paragraph 2.3 of the General Conditions, and completed ready for final payment within <u>60</u> calendar days after the date when the Contract Time commences to run.			
BIDDER accepts the provisions of the Agreement as to liquidated damages in the event of failure to complete Work on time.	the		
C 6. Communications concerning this Bid shall be addressed to:			
The address of BIDDER indicated below:			
BIDDER NAME Think Pavers Hardscaping LLC			
MAILING ADDRESS 125 Kings Highway Mount Royal, NJ 08061			
C 7. The terms used in this Bid which are defined in the General Conditions of the Construction Contract includes part of the Contract Documents have the meanings assigned to them in the General Conditions. SUBMITTED on November 28, 2023, 20	lude		
Contact Information			
Project Manager: Nicholas Furfari President			
Business Address: 125 Kings Highway Mount Royal, NJ 08061			
Phone Number: 856-832-4680 Fax Number: 856-832-4681			
Mobile Phone: 856-371-9559 Email Address: nfurfari@thinkpavers.com			

The bidders are herein advised that limited funds are available for this project. If bids received are higher than funds permit, the owner may partially or totally delete from the project, the work listed as deletion items.

The bidders shall utilize the <u>same unit prices bid for the deletion items as actually bid</u>. If there is an inconsistency between bid price and deletion price, the Engineer shall utilize the bid price for any possible determinations. The owner reserves the right to delete as few or as many items in numerical order that is in his best interest to do so.

DELETION ITEM 1

ITEM DESCRIPTION	UNIT PRICE		TOTAL PRICE BASED ON ESTIMATED QUANTITIES
DEL-1. 6 "x 12" Concrete Cur	b		
400 Linear Feet	\$ <u>25.00</u> /LF Figures	\$	10,000.00 Figures
WRITE UNIT PRICE BID:	Twenty Five		
		PER L	LINEAR FOOT

DEL-1	Contractor shall DELETE Item 1, item DEL-1	
	Total Price for Deletion Items DEL-1 \$ 10,000.00	FIGURES
WRITE OUT T	OTAL PRICE FOR Deletion ITEMS DEL-1: Ten Thousand	<u>.</u>
Total Price for	Base Bid less Del Item 1 \$: 342,700.00	
Total Trice for	v	FIGURES
WRITE OUT T	OTAL PRICE FOR BASE BID LESS DEL ITEM 1:	
	Three Hundred Fourty Two Thousand Seven Hundred	